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QUESTION 1

What are two consequences of exposing columns for reporting? (Choose two.) 

A. Backward chaining declare expressions cannot use exposed properties. 

B. Record inserts and updates require more processing time. 

C. Tables require additional space due to additional columns. 

D. The database may not comply with normalization standards. 

Correct Answer: AC 

 

 

QUESTION 2

Based on the information in the chart. If you execute the rule when .Dept=Engineering. Which version does Pega use? 

A. 01-01-01, None 

B. 01-01-35 

C. 01-01-01, .Dept=Engineering 

D. 01-01-20, .Dept=Engineering 

Correct Answer: B 

 

 

QUESTION 3

Which two statements about adding a pre-processing action to a flow action are true? (Choose Two) 

Latest PEGAPCSSA85V1 Dumps | PEGAPCSSA85V1 Practice Test | PEGAPCSSA85V1 Exam Questions                               2 / 3

https://www.passapply.com/pegapcssa85v1.html
https://www.passapply.com/pegapcssa85v1.html
https://www.passapply.com/pegapcssa85v1.html


https://www.passapply.com/pegapcssa85v1.html
2024 Latest passapply PEGAPCSSA85V1 PDF and VCE dumps Download

A. The user can opt to skip the pre-processing action. 

B. The action only runs the first time the flow action is performed on an assignment. 

C. The action runs each time the user returns to the assignment. 

D. The action automatically runs if the flow action has the highest likelihood for the assignment in the process flow. 

Correct Answer: CD 

 

 

QUESTION 4

Which two of the following situations require an activity? (Choose Two) 

A. Call a connector from a flow 

B. Simulate a data page 

C. Call a connector from a data page 

D. Simulate a connector 

Correct Answer: AD 

 

 

QUESTION 5

In which of the following situations would you configure global resource settings? 

A. The thresholds for a SLA are set to hours instead of days on a testing environment. 

B. The credentials for a REST service differ between development and production environments. 

C. Two SOAP connectors execute in parallel to improve performance. 

D. ASAP connector returns simulated data in the development environment. 

Correct Answer: C 

Reference: https://community.pega.com/sites/default/files/help_v718/definitions/g/ globalresourcesetting.htm 
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